Properties Of Circles

Solution (a) ZACB=90° (£ in a semicircle)
ZABC + ZBAC + ZACB = 180° (£ sum of A)
ZABC + ZBAC + 90° = 180°
ZABC + ZBAC = 90°

6+ ZBAC=90° (radius L tangent)
ZABC + £ZBAC = 8 + £BAC
ZABC =10

(b) In AACT and ABAT,

ZCAT = ZABT (proved)
ZATC = ZBTA (common)

. AACT is similar to ABAT. (Angle-Angle-Angle similarity)

(c) AL T (corr. sides of similar As)
cT . AT
AT _ 445

4 AT
AT? =136

A vAT =36

=6cm

Revisi'on Practice 8

1. In the diagram, AB // CD, O is the centre of the circle, B
AB = CD =10 cm, O is 5 cm from the chord AB. Find e
(a) the radius of the circle, /10/ \D
(b) the perpendicular distance between AB and CD. ( P i S /\ \r
\/ 0 / /
A' ; : 0",-’“
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2. In the diagram, ABCD is a rectangle inscribed in a
circle of radius 3 cm. If AB = 5 cm, find the area of the D, C
rectangle ABCD.
LS - 3
A 5 - B
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